64 - 8 =(8] I

48

31

16

27

8

63

C What am I?

)

Find the answer and use the letters to answer the riddle

:8=DH
- 9= ] C

+8=DS§36;
+9=DB§90:
I :9=DL

+8=Dw§0

+9:DAE4O‘

9= J N
9:@1{

8=DD

How do you call a witch who goes to the beach ?

7 2 7 4 5
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64 - 8 =(8] I

48

31

16

27

8

63

C What am I?

)

Find the answer and use the letters to answer the riddle

- 8=(6] H

9@

-8 =[(2] s 36 -
:9:]390;
:gzwo
-9 =(7)] A | 40 -

9=(4] N
9=K

- 9=(0] L

8=D

How do you call a witch who goes to the beach ?
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